































Example 2

 $(((\lambda x.\lambda y.x) z) ((\lambda r.r r) (\lambda s. s s))) = (c b).$ call by value: reduce c to yield $((\lambda y.z) ((\lambda r.r r) (\lambda s. s s)))$ which is $((\lambda y.z) (c' b'))$. reduce (c' b') yielding $((\lambda y.z) ((\lambda s.s s) (\lambda s. s s)))$. we end up with a similar term b". repeating this reduction will result in a nonterminating computation call by name: reduce c to yield $((\lambda y.z) ((\lambda r.r r) (\lambda s. s s)))$. now substitute b into the reduced c, yielding z, because there is no bound y in $\lambda y.z.$ z is the normal form for the above term, by definition.

LambdaCalculus-2, CS5314 Sp2016 © BGRyder

